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At first look, for 0.6 mm GadOx screen in Geant:

1 GeV e = 480 keV depos.
1 GeV Yy = 15 keV depos.

10 GeV e ~ 480 keV depos.
10 GeV y = 15 keV depos.

Or electrons are ~30 times more effective

Working on plots of a more complete evaluation




Particles/BX

20 H
18 H
16 H
14
12H

10

o N~ o0 @

run_7_ 3um.root Particles run_7_3um.root Particles

10°
— x —

Q

[ n

N o

. 3]

T ©

r a

L L | L 1 L ‘ L L ‘ 1 ’/I_I_r/l_t ‘ | | 1 ‘ 1 | | ‘ | | | I ‘ | I I ‘ I I I
2 4 6 8 10 12 14 16 18 20 16 18 20
Energy (GeV) Energy (GeV)

Blue - “Background’ Red - “Signal’

All Bkg = 2.09 x 10’ All Sig = 7.21 x 107

High xi = 5.12,
w, =3 Bm, n, = 467

B




Electrons/BX

12

10 A

run_7_ 3um.root Electrons

16 18 20
Energy (GeV)

Blue - “Background’

e Bkg = 1.20 x 10’

High xi_
w, =3 Hm, n

Electrons/BX

run_7_ 3um.root Electrons

—

o
2,
|

-
o
)

10°

10° &

10° £

Red - “Signal’

16 18 20

Energy (GeV)

e Sig = 7.21 x 10’

= 5.12,
. = 467

B




Electrons/BX

12

10 A

run_7_ 3um.root Electrons

16 18 20
Energy (GeV)

Blue - “Background’

e Bkg < 1 GeV = 1.20 x 10’

High xi_
w, =3 Hm, n

Electrons/BX

run_7_ 3um.root Electrons

—

o
2,
|

-
o
)

10°

10° &

10° £

Red - “Signal’

16 18 20

Energy (GeV)

e Sig < 1 GeV = 964

5.12,
. = 467

B




run_7 3um.root Background Particles/BX run_7_3um.root Background Electrons/BX
3
L 3 W w\ ﬁH - | L . 3500
L h . } - N ) e .
o EH’ i fﬁ“ * N EERE Rt
B = . o 3000C
20 20— . IR 2500¢
L 60 — . . L 'II
0 0 — AR R 2000(
— : ) [ i |
B 40 L . 1500
20— —20— C e
B : = . S e 1000C
I~ ' ; : 2 _a0— o
-40 — ) Pﬁ & 'ﬁu F.w‘ 0 4017 I 5000
L \ £
L i L o :I'\'. wgl'llrﬂ:; ‘ll:| iy — cod
[ ‘ —6 | | | | | | | | | 0
60,55 T s 0 %00 500 400 300
run_7_3um.root Signal Electrons/BX
>~ 60 > 60 x10°
- 6000C -
B 1 - —{5000
40— 40—
- 5000C -
L = —4000
20— | j |. 20—
B kL ‘i . 4000C C - .
N il ; - 2 e 4 3000
ol— J-‘li"l ' ) ol— ° \”"|" : . ”I. ]e.'nil'% b
B g 3000C = BT
[ - S "L -
B Finf T B 2000
AL 20—
-20— o 2000C -
- ' { L 1000
_a0— o , f ; |- -=. J é,, ﬁlu 1000C 0T
: II h h :Iv 'IE;PJ} {W I |'. .'-. ﬁ!h :'51 Ll .. W :
— ‘ ‘ ‘ ‘ ‘ ‘ ‘ . ‘ ‘ _6% 1 1 ‘ 1 1 ‘ 1 1 1 ‘ 1 1 ‘ 1 1 ‘ 1 0
%00 —500 -400 -300 —200 -100 0 0 ~600 500 ~400 ~300 -200 ~100 2
X




Backup

11




run_2_magnet2t_20um.root Electrons
107

Electrons/BX

10°
10°

10°

10°

F

| 1 | 1 | | 1 | | | | | | | 1 | | 1 ‘ | | | ‘ | | |
4 6 8 10 12 14 16 18 20
Energy (GeV)

o

e Bkg = 5.33 x 10° e Sig = 2.21 x 108

2T magnet — no e above 16.2 GeV
Not reliable!..

12




run_2_magnet2t_20um.root Background Particles/BX . run_2_magnet2t_20um.root Background Electrons/BX
- 60 x10 _ 50
- 120 B . z 3500¢
40 j 40 I ) \.I I. I \
- 100 - ' : : . . 3000¢
20— 20 ; ! ' .'.: I
B B - 2500C
B 80 B - .
0— ol 2000C
B 60 B
ool = 1500C
= 40 e ]
B B R 1000C
L L P,
-40— -40 — o
B 20 - : . 5000
-6 L ! 0 _ B | TR P B TR TR TR
—600 %00 -500 -400 -300 -200 -100 0
run_2_magnet2t_20um.root Background Photons/BX run_2_magnet2t_20um.root Signal Electrons/BX
3
> 60 -~ 60 x10
[ t R et X 9000C — 7000
B g B
40— Wi e e 8000C 40—
. i A B 6000
— o 7000C —
20 — in 20— 5000
B . 6000C B
0 L 5000C 0 L T ——— 4000
- 4000C B 3000
—20— Ry soo0c [
B : B 2000
- 2000C -
—40— e —40— 1000
B 1000C L
P Ll Ll L L Ll Ll ! el Ll Ll L Ll T
%00 -500 ~400 ~300 -200 ~100 0 0 %00 -500 ~400 -300 -200 ~100 0 0
X X

13




run_8 phase2 8um.root Electrons

Electrons/BX

OI‘ oo T ——

‘Bl | ‘8‘ | |10‘ | I12I | ‘14| | ‘16‘ lllEr;I(-,?rgy(GeIVZ)O
e Bkg = 1.62 x 107’ e Sig = 3.44 x 10°®

Phase2 simulation

14




40

20

-20

-40

—6!

> 60
40

20

-20

40

_6_%

run_8 phase2 8um.root Background Particles/BX

S
o\\\‘\\\‘l\\‘\\\‘\\\‘\\\

1 1 1 1 1
-500 -400 -300 -200 -100

run_8 phase2_8um.root Background Photons/BX

S
o\\\|\|\‘\\\‘\\\‘\\l‘\\\

x10°

—1350

—300

250

200

150

100

50

x10°

—1250

—1200

150

100

50

>

60

40

20

60

40

20

run_8 phase2_8um.root Background Electrons/BX

x10°

120

100

80

60

40

20

S
o\\\‘\\\‘\\\‘\\\‘\\\‘\\\

run_8_phase2_8um.root Signal Electrons/BX

—22
—120
—118
— 16
14

12
10

(=T S 2]

=1
o\\\‘\\\‘\\\‘\\\‘\\\‘\\\

1 1 1 1 1
-500 -400 -300 -200 -100

15




